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str. 67, pr. 6
Vypoctéte determinanty.

1 4 16] |1 4 16| |1 4 16
15 25/~[0 =1 =9 |~|0 -1 =9 |=1.(=1).(=20)=20
1 9 81| |0 =5 —65| [0 0 -20

Determinant je 20.

str. 67, pr. 7
a x x

x b x|=abc+x+x —x’b—x’a—-x*c=2x"—x"(a+b+c)+abc

X X C

Determinant matice je 2x” —x’(a+b+c)+abc.

str. 67, pr. 8
0 a O

b ¢ d|=c0*+0be+0ad—0ab—c0*—0de=0
0 e O

Determinant matice je 0.

str. 68, pr. 13
Dokazte, ze determinant je d€litelny 8.
1 1 1 1 1 1 1

I 1 -1 -1 0
I -1 1 -1 0
I -1 -1 1 0

=1.22.(-4)=-16
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Determinant je -16 a je d¢litelny 8.



